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L; = z 0 ifsyi = Sj + 1 “Hinge loss”
Yo La|sj— sy, +1 otherwise
J#FYi
Sy, |
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Loss= (29 + 0 + 12.9)/3=5.27
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Softmax aaiws

Sk Cewl jletel 5l Sewslbe Jizl b 0,5 15 5)lg0 51 (g Ly jo @

164.0
0.87
24.5

normalize

.

P(y)
Q)

L = —log P(Y = y;|X = x;)

Diu(P,Q) = ) P(y) log
y
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hinge loss (SVM)
-2.85
matrix multiply + bias offset max(0, -2.85 - 0.28 + 1) +
—» | 0.86 max(0, 0.86 - 0.28 + 1)
0.01 | -0.05 | 0.1 | 0.05 -15 0.0 =
S 1.58
0.7 02 | 0.05 | 0.16
22 + 0.2
0.0 | -045 | -0.2 | 0.03 44 -0.3 cross-entropy loss (Softmax)
-2.85 0.058 0.016
W 56 b
ex, normalize
—» | 0.86 _’?.. 236 | — 5 | 0.631 | -10g(0.333)
:l':g (to sum =
to one) 1.04
0.28 1.32 0.353
Yi | 2
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1A Example: https://colab.research.google.com/drive/1Bk6vn1UddLwIAVIzq]zNrFGcXTTf3xx4?usp=sharing
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